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Sri Ramakrishna Ashrama Institute 

Class- II 

Subject- English (Grammar) 

Study Material 

Past form of Verb to have 

(To be done in c/w copy) 

 

1. Past form(অতীত রূপ) of ‘have’= had(ছিল) (ক োন ো জিজ স জিল 

অনথে) 
 

2. We use ‘had’ after singular and plural number. 

 

3. Frame sentence as directed: 

a) Subject (noun in singular) + Past form of verb to have +Rest. 

Ans: The chair had four legs. (Affirmative sentence) 

b) He + Past form of verb to have+ no/not + Rest. 

Ans: He had no friend. (Negative sentence) 

OR 

          He had not a/any friend. (Negative sentence)   



2 | P a g e  

 

 

c) Past form of verb to have + Subject (pronoun in plural) + 

Rest? 

  Ans: Had they an old car? (Interrogative sentence)   

 

4. Change the sentences as directed:  

a) We had many books. (Negative & Interrogative sentence) 

Ans: We had not many books. (Negative sentence) 

         Had we many books? (Interrogative sentence) 

b)  The poor boy had no food. (Affirmative & Interrogative)  

Ans: The poor boy had food. (Affirmative sentence) 

         Had the poor boy food? (Interrogative sentence) 

 

For practice 

( To be done in H/W copy) 

 

1. Frame sentence: 

a) Subject (plural) + Past form of verb to have + Rest. 

b) Past form of verb to have + Subject + Rest? 

c) You + Past form of verb to have + no/not + Rest. 

 

2. Change the sentences as directed: 
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a) The beautiful girl had long hair. (Interrogative sentence) 

b) Had the dog three puppies? ( Affirmative & Negative 

sentence) 

3. Choose the correct word: 

a) The women (had/ has) a small garden. 

b)  The tree (was/had) green leaves. 

c)  He (had/ was) not a sister. 

d)  Last week we (are/were/ had) a picnic. 

 

 

 

Answer part 

 

1. Frame sentence: 

a) Those nice flowers had sweet fragrance. (Affirmative 

sentence) 

b)  Had I two black pet dogs? (Interrogative sentence) 

c)  You had not a/any big house. (Negative sentence) 

  

2. Change the sentences as directed: 

a) Had the beautiful girl long hair? ( Interrogative sentence) 
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b)  The dog had three puppies. (Affirmative sentence) 

  The dog had not three puppies. (Negative sentence) 

 

 

3. Choose the correct word: 

a) The women had a small garden. 

b) The tree had green leaves. 

c) He had not a sister. 

d) Last week we had a picnic. 

 

 

• Note 

 

• If you have any queries regarding the chapter, write in the 

comment box. 

 

• Mention the Name, Class, Section, Roll number of the student. 

 

• Provide your phone number so that we can connect you directly if 

needed. 


